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GDS TO PM/MTS CHATTISGARH CIRCLE-2022 
(1.) Andaman and Nicobar Islands comes under the jurisdiction of 

(A.) North Eastern Circle (B.) West Bengal Circle 
(C.) Kerala Circle (D.) Tamilnadu Circle 

(2.) Value Payable article can be booked to 
(A.) Any Post office in India 
(B.) Any Delivery Post office in India 
(C.) Any Delivery Post office except an Army Post Office 
(D.) Any Post office except a BO 

(3.) Overseas orders of Philatelic products are executed by which Philatelic Bureau? 
(A.) Calcutta GPO (B.) Chennai GPO 
(C.) Delhi GPO (D.) Mumbai GPO 

(4.) Machine franked articles posted in Letter boxes shall be treated as 
(A.) Fully prepaid articles (B.) Unpaid articles 
(C.) Partially paid articles (D.) Registered articles 

(5.) Facility of prepayment of Postage by cash is available for 
(A.) Postcards (B.) Inland letter cards 
(C.) Letters and Unregistered Parcels (D.) All the above 

(6.) Mail for Navy Personnel on board should be addressed to 
(A.) C/o Fleet Mail office, Mumbai (B.) C/o Fleet Mail office, Chennai 
(C.) C/o Fleet Mail office, Calcutta (D.) C/o Fleet Mail office, Trivandrum 

(7.) Registered News Papers are 
(A.) II Class mails but treated as I Class mails in Sorting 
(B.) I Class mails 
(C.) Il Class mails for all purposes 
(D.) None of the above 

(8.) Perishable biological substances 
(A.) Can't be sent 
(B.) Can be sent letter post if properly packed in accordance with the Rules 
(C.) Can be sent as a Parcel 
(D.) None of the above 

(9.) Weight of a letter card should not exceed 
(A.) 3 Grams (B.) 10 Grams (C.) 20 Grams (D.) 2 Grams 

(10.) Sample invitation cards can be sent through 
(A.) Letters (B.) Book Packets 
(C.) Sample/Pattern Packets (D.) All the above 

(11.) Office files containing notes and orders or draft letters and fair copies exchanged between Government 
Officer and his office may be sent by post as 
(A.) Letters (B.) Book Packets 
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(C.) Parcels (D.) All the above 
(12.) What is the rate of discount for the walk in customer who books speed post for Rs.3000/- 

(A.) No discount (B.) 15% (C.) 5% (D.) 10% 
(13.) Dangerous Goods means articles which are capable of posing a risk to 

(A.) Only employees 
(B.) Only Environment 
(C.) Health, safety, property and environment 
(D.) None of the above 

(14.) Stamps to the holder of Philatelic Deposit Account will be dispatched by Registered Post. The charges for 
the said service is 
(A.) Postage for Registration will be deducted from the account 
(B.) Free of cost 
(C.) Half of the prescribed rates 
(D.) Will be dispatched only by ordinary post 

(15.) The charges per insertion under Bill Mail service is 
(A.) 25 Paise (B.) 50 Paise (C.) 1 Rupee (D.) Free 

(16.) If the BNPL customer fails to pay the dues by due date, then the rate of penalty is 
(A.) 10% per annum (B.) 15% per annum 
(C.) 18% per annum (D.) 12% per annum 

(17.) ECS means 
(A.) Electronic Clearing Service (B.) Electrical Cash Service 
(C.) Electronic Credit Service (D.) None of the above 

(18.) Which one of the following service cannot be availed through IPPB mobile application? 
(A.) Online Payment facility to RD account 
(B.) Online Payment facility to PPF account 
(C.) Online Payment facility to SSA account 
(D.) Opening of RD/PPF accounts 

(19.) What are the charges for availing withdrawal through other bank ATMs after free transactions? 
(A.) RS.25+GST (B.) RS.10+GST (C.) RS.20+GST (D.) RS.50+GST 

(20.) What are the charges for transfer of a PPF Account from one PO to another? 
(A.) Rs.50 (B.) Rs.100 (C.) Rs.200 (D.) Free 

(21.) What is the maturity period of Sukanya Samriddhi Accounts? 
(A.) 21 years from the date of opening (B.) 20 years from the date of opening 
(C.) 25 years from the date of opening (D.) 10 years from the date of opening 

(22.) What is the Maximum limit for MIS Joint account operated by 3 adults? 
(A.) 4.5 Lakhs (B.) 9 Lakhs (C.) 13.5 Lakhs (D.) 15 Lakhs 

(23.) What is the method of calculation of TD interest? 
(A.) Quarterly calculated payable annually 
(B.) Annually calculated 
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(C.) Half yearly calculated payable annually 
(D.) Quarterly calculated payable quarterly 

(24.) Central Bag office is 
(A.) A Section of Postal Directorate (B.) B Section of Postal Directorate 
(C.) C Section of Postal Directorate (D.) D Section of Postal Directorate 

(25.) A Sorting Assistant who works with a Sorting Office over only a portion of its working hours to assist the 
set where the work is heavy is called 
(A.) Sorting Assistant (B.) Temporary Sorting Assistant 
(C.) Subsidiary Sorting Assistant (D.) Part Time Sorting Assistant 

(26.) Mail bags between Cash office and Sub offices to which it finances, containing Registered bag with Cash 
bag are distinguished with a symbol 
(A.) M (B.) S (C.) D (D.) F 

(27.) Insured bags are 
(A.) Due bags 
(B.) Unusual Bags 
(C.) Neither a Due bag not an unusual bag 
(D.) Camp bags 

(28.) When Plural Mall bags are closed; registered bags are always placed in 
(A.) Bag 1 (B.) Bag with last serial 
(C.) Will not be placed (D.) Any one of the bag 

(29.) A label tied to the top of the labeled bundle is called 
(A.) Label (B.) Station label (C.) Bundle card (D.) Check Slip 

(30.) Bulk bag means 
(A.) Bag containing bulky articles 
(B.) Many bags closed by a Mail office to a Post office 
(C.) Special bag of Printed papers addressed to/fromForeign countries 
(D.) None of the above 

(31.) Commonwealth Games 2022 held at 
(A.) Tokyo (B.) Chennai (C.) Birmingham (D.) Sydney 

(32.) Ethanol producing plant from farm wastes has been inaugurated by Prime Minister in 
(A.) Ranipet (B.) New Delhi (C.) Chandigarh (D.) Panipat 

(33.) What is the minimum age to be elected as a Member of Parliament - RajyaSabha 
(A.) 25 years (B.) 40 years (C.) 18 years (D.) 30 years 

(34.) Attorney General of India is a appointed by ……. 
(A.) Statutory & Appointments committee 
(B.) Constitutional & President 
(C.) Executive & Cabinet 
(D.) None of the above 

(35.) Which one of the following is not an East flowing river? 
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(A.) Cauvery (B.) Mahanadi (C.) Tapti (D.) Godavari 
(36.) Which is the largest producer of Jute in the world? 

(A.) Bangladesh (B.) India (C.) China (D.) Thailand 
(37.) Bihu is the harvest festival celebrated in 

(A.) Tamilnadu (B.) Andhra (C.) Assam (D.) Odisha 
(38.) Madhubani is an art form of 

(A.) Dance (B.) Paintings 
(C.) Singing (D.) None of the above 

(39.) Which is the National Song of India? 
(A.) Jana Gana Mana (B.) Vandemataram 
(C.) Both a and b (D.) None of the above 

(40.) In which one of the following place, cement factory is established by Cement Corporation of India Limited? 
(A.) Mysore (B.) Guwahati (C.) Nayagaon (D.) Madurai 

(41.) What is the simple rate of interest if A earns Rs. 660 as interest in 2 years with a principal of Rs. 10000/- 
(A.) 3.3% (B.) 6.6% 
(C.) 1.65% (D.) None of the above 

(42.) Z earns Rs. 150 as Profit by selling 20 KGs of Onions. He sold 10 KGS of Onion for Rs.30Per KG, 5 KGs 
of Onion for Rs.40 per KG and remaining for Rs.25 per KG. What is his purchase cost per KG?  
(A.) 23.50 (B.) 47.50 (C.) 23.75 (D.) 475 

(43.) A sold 20 KG Tomato and 10 KG Potato for Rs. 300 and earned Rs. 100 as Profit. If the purchase cost 10 
KG potato is Rs. 160 and the sale price of 20 KG Tomato is Rs.200, what would be the percentage of 
profit/loss, the A has got by selling only Potato? 
(A.) 50% Profit (B.) 37.5% Profit (C.) 37.5% loss (D.) 50% loss 

(44.) Z scored 8 out of 40 in Term I and scored 12 out of 40 in Term 2. If the average Pass percentage is 35% of 
the average of all Terms, how much should Z score in Term 3 out of 100? 
(A.) 36 (B.) 43 (C.) 63 (D.) 35 

(45.) 12 students passed in English, 10 passed in Maths and 12 passed In Science out of the class strength of 16. 
All passed in Maths passed in Science also. 4 failed in all subjects. What is percentage of students who 
failed only in Maths? 
(A.) 12.5% (B.) 25% (C.) 6.75% (D.) 2% 

(46.) A and B together complete the work in 4 days. A alone takes 6 days to complete 
Then in how many days, B alone will complete the work? 
(A.) 12 days (B.) 16 days (C.) 20 days (D.) 10 days 

(47.) Train A and Train B start at 1000 AM and 1100AM from Z city to Y city, with the speed of 100 KM per 
Hour and 120 KM per hour respectively. At what time and at what distance from Z city, both the trains 
meets together? 
(A.) 1600 Hours and 500 KM (B.) 1500 Hours and 600 KM 
(C.) 1600 Hours and 600 KM (D.) None of the above 
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(48.) Average run rate of Mr. X In the last 99 one day matches is 4. If Mr. X scored 104 runs in the current one-
day match, find out his average run rate in one day matches now? 
(A.) 4 (B.) 4.5 (C.) 5 (D.) 6 

(49.) The train took 3 hours to reach A from B. C is at the middle of A and B and situated at equal distance from 
A and B. If the train travels at 30 KMs speed on an average, what is the distance of C from A? 
Update 
(A.) 35 KMs (B.) 15 KMs 
(C.) 30 KMS (D.) None of the above 

(50.) If A borrowed Rs.20000 @ 12% simple interest per annum from B and repaid Rs.10000 at the end of 1st 
year. He wanted to settle the loan with interest at the end of 2nd year, then how much he should pay? 
(A.) Rs.12400 (B.) Rs.11200 (C.) Rs.10000 (D.) Rs.13600 

  

GDS TO PM/MTS CHATTISGARH CIRCLE-2022 KEY 
ANSWER 

(1.) B (2.) C (3.) D (4.) B (5.) D 
(6.) A (7.) A (8.) B (9.) A (10.) D 
(11.) D (12.) D (13.) C (14.) B (15.) A 
(16.) D (17.) A (18.) D (19.) C (20.) B 
(21.) A (22.) B (23.) A (24.) D (25.) C 
(26.) D (27.) C (28.) A (29.) D (30.) C 
(31.) C (32.) D (33.) D (34.) B (35.) C 
(36.) B (37.) C (38.) B (39.) B (40.) C 
(41.) A (42.) C (43.) C (44.) B (45.) A 
(46.) A (47.) C (48.) C (49.) D (50.) D 

 

 
 
 
 
 
 
 
 


